& B oC {4 —— i R AR =

AIl'TAC

ACA. ACJ#7I

O EmirE

SERRETRBIRR. REMEE,
SEIEEESN

—RIGE, JRZBSET); ERMINABLEFESE,
BERBEIREEEE,

SEENFMY, SEEsmERtae, MREMEER, &
RIEBS R N IEREER.

RN T 2R EsIREMAEE R E,

NEfERE; RARMEEES.
RAKEEEHEREENE, ERRELEE, RENASE,

BZEHERR, BENIS

506

175 SRR /INEFIR AR
(mm) BE=E(Nm) =(Nm/h)

BEAAMEE (k)

R (KE

=R

ACA0806|6 3 5400 5 20 25 4 2 1 12
ACA1007|7 6 14500 10 40 50 4 2 1 26
ACA1210[10 |10 30000 18 60 80 4 2 1 40
ACA1215[15 |12 35000 20 75 100 4 2 1 48
ACA1412[12 |18 36000 30 110 150 4 2 1 70
ACA1416|16 |22 39000 40 140 180 4 2 1 78
ACA1420[{20 |25 45000 45 155 200 4 2 1 85
ACA2020{20 |60 50000 240 660 960 4 2 1 175
ACA2025|25 |65 54000 260 720 1040 |4 2 1 185
ACA2030{30 |70 58000 280 780 1120 |4 2 1 210
ACA2040[40 |80 65000 320 890 1280 |4 2 1 225
ACA2525(25 100 75000 400 1100 |1600 |4 2 1 290
ACA2550(50 |150 85000 600 1650 |2400 |4 2 1 370
ACA2725(256 |140 85000 560 1650 |2240 |4 2 1 372
ACA2750(50 |250 95000 1000 |2780 |4000 |4 2 1 475
ACA3325(25 |180 100000 720 2000 [2880 |4 2 1 596
ACA3350({50 |300 120000 1200 3300 4800 |4 2 1 750
ACA3625(256 220 135000 880 2400 |3500 |4 2 1 702
ACA3650[{50 |350 150000 1400 2500 |5600 |4 2 1 889

FIR(NT) A R AT R (k)

ACJ1007 |7 6 14500 50 4 28
ACJ121010 10 30000 80 4 43
ACJ1412]12 20 36000 160 4 75
ACJ2020 |20 60 50000 960 4 189
ACJ2525 |25 100 75000 1600 4 308
ACJ2550 |50 150 85000 2400 4 395
ACJ2725 |25 140 85000 2240 4 396
ACJ2750 |50 250 95000 4000 4 510
ACJ3325 |25 180 100000 2880 4 540
ACJ3350 |50 300 110000 4800 4 800
ACJ3625 |25 220 125000 2500 4 750
ACJ3650 |50 350 130000  |5600 4 950
ACJ4225 |25 350 150000 5600 4 1150
ACJ4250 |50 700 180000  [11200 4 1420
ACJ427575 1050 210000 16800 4 1720

O B mET BB

R AR

ACA: IREBRIETVBEREESS
ACJ: JHEEHHEIVHEEES

B EE 058
RENT  |IHiEiEiisk
M20REAE|F: EEER
AT o N: EhElE
08: M8 TE. BNGER
10. M10 M20RARF, ﬁ%gﬂg} e
12: M12
14. M14
20. M20 ® EENRIR
25. M25 ERER RERSE
27. M27 1. RESH)
33. M33 ACA 2. PROEH)
36. M36 3. EREEH)
ACJ ISR
1712 o




o
% Bl JT 4 —— i R A% =S AIl'TAL

ACA. ACJ#7I

0 & KR RE = B E Hh 48 D ARMGERETEZEHHE
1 2 4 5 7 9 11 13 14 16 17 18 19 21
TR AiE wa
1 |BhEE PAB6(M8)\TPU(M10~M14)\TPUZ{S45C(M20~M42)
Z 2 |FrEEuEn) FRMBINRAEIHET)
0305 175 3 O NBR
- T N 4 |BEM KB #(M8~M27)\S45CHEEZE(M33~M42)
EEV(m/s) SREV(m/s) 5 B FE(M8B~M10)\BZE (M 12~M42)
B1:ACA0806-1~ACA1420-1 B4:ACA2020-1~ACA3650-1 6 |n= SH(MBNRAIZ(M10)\82(M 12~ M42)
7 |FHO0T F(M8)\TPU(M10~M42)
CIELS SUS304(M10~M14NE(ET)
33011 T /ACA3eE0IZ 9 |S#0%  |NBR
300t -~~~/ /IAcAameg 10 [OFE NBR
WRAAR N GEL Wy ) X9 0 11 |BiFeE ]
220
200 N/ ey 12 [\ [SSAl
5170,,,jf Z /ACA3325=2 13 |[BERBIR  [Z8BE
) S v 0y o V1T 14|88 FRAIH
W 120% — — 4L A/ //ACA27252 | 15 EE fi]
1 10t—— o o e 16 |BEE _ |BE
8 90] - — //ACA2525:2 | 17 [JIEGRE)  [50(M8~M12)\iB(M20~M27)
= ?8:* T VITY 18 |NEE _ |RAEMS-M14)NERMEEM20~M42)
i 6517 —— NIV NG SWPB
K ?8:, . ZACA202042 20 [@E GCri6
% 30 ,::T:::::T:: 21 | IR ST
0 0.20.3 1 2
REV(m/s) REV(m/s)
B2:ACA0806-2~ACA1420-2 B5:ACA2020-2~ACA3650-2 - E 79 11 19 14 16 1718 20 29 24
350
320
300
250
220
_ 789
€ E,%g 21 23\25
N 18
B 0110 F ik 2B e
B »198 1 [piEE PAG6(M8)\TPU(M10~M14\TPUD{S45C(M20~M42)
= = 80 2 [BpEEEL) FMSNRAIMIET)
= = 70 3 |[OFE NBR
5 2 80 4 [EEN T IMB~M27\S45CHER(M33~M42)
pa i 454 ] (M8 ~M10)\BFEHM12~M42)
6 |NIE SHMBNRAIFIM10)\EB(M12~M42)
. 7 |REI0S FE(MBN\TPU(M10~M42)
EEV(m/s) REV(m/s) § =m0= INBR
_B3:ACA0806-3~ACA1420-3 B6:ACA2020-3~ACA3650-3 s oOFE NBR
{=pash . B - . 10 [BrE ]
1. AHEBL T EREREBRSERES I RNESHE, TR SS41
2. EBTERESIFEARIEEEE20% ~80%EREAEMH, 12 |AE TRAET
13 |ERBIB BB
14 [BE Ei]
D 42 GFr4E pres 15 |BERE 588 22 i)
R 16 |[FEGTE)  [#(M8-M12)48(M20~M27)
8.0 300 17 _|AELE EREIHHMB ~M 14 HIE(M20~M42)
: tg[ ' ElEE SWPB
~ 6.0 PAILEL:; i ﬁrﬁ% 60.0 19 [#EK GCr15
z X R 20 |OE NBR
S0 200" 21 | LEIUIRH B
o™ // I 22 [IERM__ [5%®
R 4 K 23 | i
2.0 '\/l/\_’_/ 20.0 24 |k 550
25 |FA8i5esH BEE
0.0 , , S| | 50 =
0.0 50 10.0 15.0 20.0
7k (mm)
REA: WBR: AiTRDBER, MRENRIERNRIKESE, BURRBH
BRMEBREPNEE, BREINTBRIRAR,

A 507




o

& B oC {4 —— i R AR =

AIl'TAC

ACA. ACJ#7I

O SMERAR & O M %
AEE-ACA 1 FE f S
— (EAEDI EEHTR
T
T <
© H T
6] - L |
‘ | s FHEP JER) E BRIE | I
GEH 8 -0
EISR\FF SR A B C D E F G H | J
ACA0806/M8x1.0 |6 |45 31 |5 |4 |3 6.5 |6 |11
ACA1007|[M10x1.0 |7 |65 |40 |5 |4 |3 |8.6 7.5 |14
ACA1210M12x1.0 [10[62 |46 |5 |4 |3 |10 |7.5 |17
ACA1215[M12x1.0 [15[78 |57 |5 |4 |3 |10 |7.5[17
ACA1412]M14x 1.5 |12 |80.5 |62.5 |5 |6 |4 [12 [12 [19
ACAT416|MT4x1.5 |16 [92.5 |70.5 |5 |6 |4 |12 |12 [19
ACA1420[M14x1.5 |20 [103 |77 |5 |6 |4 |12 |12 |19 ATRETE
ACA2020[M20 x 1.5 [20 [112.584.5 |7 |6 |6 |18 [15 |26 . F-ACA08LM
ACA2025[M20 x 1.5 |25 [122.5/89.5 |7 |6 |6 |18 |15 |26
ACA2030[M20x 1.5 |30 [142 [104 |7 |6 |6 |18 |15 |26 - .
ACA2040[M20x 1.5 |40 |167.5]119.56]7 6|6 _[18 |15 |26 B e A5 > MR
ACA2525[M25x 1.5 [25 [123 [89 [8 |6 |6 [23 [16 [32 LM: TEfL(EILERIE
ACA2550[M25x 1.5 |50 [183 [124 |8 |6 [6 [23 [16 [32 FA: AR
ACA2725[M27 x 1.5 |25 [127 [93 |8 |6 |8 |24.5[17 |36 B
ACA2750|M27 x 1.5 |50 [192 [133 |8 |6 |8 |24.5|17 |36 BERRH "08 5,\78%"%
”””””””””””””””””””””””””””””””””””””””””””””””””””” 10. M10
= 12, M12
o o | 1 B HA 14. M14
e ° 9 20: M20
1] 25. M25
K 27. M27
" - :
AR FrHE e D 36. M36
c 42, M42
BUR\FFIR A B C D E F GH I J K ShEREE A&
ACA3325/M33x 1.5 |25 [148(81.5 |8.5 [10 |10 [27.8]15 |41 [25 A
ACA3350|M33x 1.5 |50 |213(121.5|8.5 |10 [10|27.8|15 (41 |25
ACA3625|M36x 1.5 |25 [14881.5 |8.5 |10 [10[27.8]15 [46 |25 LM 8X1 0 1 4
ACA3650/M36 x 1.5 |50 |213[121.5/8.5 [10 [10[27.8]15 [46 |25 = :
x F_ACATOLM |M10x1.0[14]16
AI2E:ACJ F-ACA12LM |[M12x1.0[17]20
Y
r 1. — — 7’:' _ el o | -
1 o= 2l RUSR\IT 3 A BCD
L] ol | e E F-ACA14LM |M14x1.5[19]27]18
B8 B D ):( F-ACA20LM |M20 x 1.5[26(35[25
C — — ——— | 1 |F-ACA25LM |M25 x 1.5|32|45|31
F-ACA27LM |M27 x 1.5/36/50[35
BUER\IF SR A B C D E F G H | J F-ACA33LM |M33 x 1.5/41/80/40
ACJ1007|M10x1.0 |7 |66 |45 11 |4 |3 |85 |7.56 |14 c F-ACA36LM |M36x 1.5/46(80(45
ACJ1210[M12x1.0 [10][73 |51 [11 |4 [3 [10 [7.5 [17
ACJ1412[M14x1.5 [12(91  [66.5 [11.5]6 [4 [12 [12 [19 | | [
ACJ2020|M20x 1.5 |20 [124.5/90 [13.5/6 |6 [18 |15 |26 F-ACA42FA
ACJ2525|M25x 1.5 |25[132.5/92 [14.56 [6 [23 |16 [32 w@
ACJ2550[M25 x 1.5 |50 [192.5[127 [14.56 [6 [23 [16 [32 ]
ACJ2725|M27 x 1.5 |25137 |96.5 [14.56 [8 [24.5 |17 [36 ﬂ d
ACJ2750[M27 x 1.5 |50 [202 [136.5[14.5]6 [8 [24.5 [17 [36 ﬂ 39
o _ 4-085 M36x1.5 [16] Ma2x1.5
T e - < el=
o) 9 E i B &
1| A5 PR S =
g | | |
. K I B Fl NJE®) Bt 1 B 5% & A E SRR
BB g D E F-ACA08LM |ACA0806
¢ F-ACA10LM [ACA1007. ACJ1007
F-ACA12LM |ACA1210. ACA1215. ACJ1210
BISE\FESE A B C D E F GH | J K F-ACA14LM |ACA1412. ACA1416. ACA1420. ACJ1412
ACJ3325|M33x1.5/25 [156 |82 |16 |10 [10[27.8[15 [41 |25 F-ACA20LM |ACA2020. ACA2025. ACA2030. ACA2040. ACJ2020
ACJ3350[M33x1.5/50 [221 [122 |16 [10 [10[27.8]15 [41 |25 F-ACA25LM |ACA2525. ACA2550. ACJ2525. ACJ2550
ACJ3625|M36x 1.5(25 [156 |82 |16 |10 [10]27.8]15 |46 [25 F-ACA27LM |ACA2725. ACA2750. ACJ2725. ACJ2750
ACJ3650|M36x 1.5(50 [221 [122 [16 [10 [10[27.8[15 [46 [25 F-ACA33LM |ACA3325. ACA3350. ACJ3325. ACJ3350
ACJ4225|M42 x 1.5|25 [161.5/85.5 |16 |12 |12 [34.8[15 [50 |25 F-ACA36LM |ACA3625. ACA3650. ACJ3625. ACJ3650
ACJ4250[M42 x 1.5[50 [226.5[125.5|16 [12 [12[34.8][15 [50 [25 F-ACA36FA |ACA3625. ACA3650. ACJ3625. ACJ3650
ACJ4275|M42 x 1.5]75 [291.5]165.5|16 [12 |12 [34.8][15 |50 [25 F-ACA42FA |ACJ4225. ACJ4250. ACJ4275

508




o

& B oC {4 —— i R AR =

AIl'TAC

ACA. ACJZFI
0 EREL

0 aHEEAFE

K iEE

DMK T B QRIENTHINKTER
M rLﬂ 3 M rLﬂ
=R
BRES (kg): m | BREE (kg): m
BE®RE(m/s): v P EBRRE(m/s): v
2 ! 2
Fae (JIN.m).  E1=T0XY 0 @pEg (J(N.m): E1=m—§v
RUELZCH MBS, ﬁﬁﬁ cE2H R 8fi7: J (N.m) EBENAZ(J(N.m): E2-0 ! ERBIAZ(J(N. M) E2=FxL
%'Eﬂ'r%z(mm)ﬁ 10 12 15 16 20 25 30 40 50 75 o @
N A R ) ) ) P ] R N MAEBUIN.m):  E=ET+E2 | IRAEBUIN.m):  E=E1+E2
8 0.181]0.211]0.301]0.3620.452|0.482|0.603|0.754 [0.904 [1.21 [151 [2.26 3
10 |0.283]0.330]0.471/0.565]0.7070.754|0.942[1.18 |1.413 [1.88 |2.36 |3.53 =B iE E |
12 [0.407]0.475]0.678|0.814]1.017|1.085|1.36 [1.70 |2.035 [2.71 |3.39 |5.09 . L
16 |0.723]0.844[1.21 |1.45 |1.809|1.929|2.41 [3.01 [3.617 [4.62 |6.03 |9.04 VeEmEe | DRELTHE
~ [20 [113 [1.32 [1.88 |2.26 |2.626]3.014]3.77 |4.71 |5.652 |[7.54 |9.42 |14.13 3
??1 25 |1.77 |2.06 |2.94 |3.563 |4.4164.7105.89 |7.36 [8.831 |11.8 |14.7 |22.1 |
Gy [32 [2.89 [3338 [4.82 [5.79 [7.235[7.717(9.65 [12.1 [14.47 [193 [241 [36.2 3
4@ 40 [4.52 |5.28 |7.54 [9.04 [11.3 [12.06[15.1 [18.8 [226 [30.1 [37.7 |56.5 ;
(mm) [50__|7.07 [8.24 [11.8 [14.1 [17.7 |18.84[23.6 [29.4 [35.33 |47.1 [58.9 |[88.3 |
63  |11.2 |131 |18.7 |22.4 [28.0 |29.9137.4 |46.7 |56.08 |74.8 [93.5 |140.2 3
80  |18.1 |21.1 |30.1 |36.2 |45.2 |48.23[60.3 |75.4 |90.43 |120.6 |[150.7 |226.1 3
100 |28.3 [33.0 [47.1 [56.5 [70.7 |75.36|94.2 [117.8 [141.3 |188.4 |235.5 |353.3 i
125 |44.2 |51.5 |73.6 |88.3 |110.4|117.8|147.2[184.0 |220.8 |204.4 |368.0 |552.0 i
160 |72.3 |84.4 |120.6|144.7|180.9]192.9]241.2[301.4 |361.7 |482.3 |602.9 |904.3 BEBEE (kg): m | BREE kg m
200 [113.0[131.9]188.4]226.1]282.6]301.4376.8|471.0 |565.2 [753.6 [942.0 [1413.0 ‘
EY . | BN
250 |176.6|206.1|294.4]353.3]441.6|471.0/588.5|735.9 |883.1 |1177.5|1471.9/2207.8 BERE(m/s): v : BYREm/s): v )
320 [289.4[337.6]482.3]578.8]723.5|771.7/964.6/1205.8]1446.9]1929.2|2411.5[3617.3 BEE (JIN.m):  El=mxgxh| BE (JIN.m): E1=MxV
FEREH. FRENAE(J(N.m): E2:m><ng‘ FEENEEJ(IN.m):  E2=(mg+F)xL
S/E0.6MPa, TI{E 040K EIZCH BREETIE12mmISELEEE9.04N.m, MAEEBUN.m):  E=E1+E2 | #REEEUJ(N.m): E=E1+E2
ERESBISR, JRAACAT412BBBESBESI TR ;
BT REDWMEHEN, ELNESENR CRESHB21E, EEEE
Dig B |
o ?c%éﬁ‘ﬁﬁﬁﬁ 3
. URUEESNAEIER0~9 (8) , HMIFHREMES (4) (IE, OWEREN,
I ERIE; i
2, FEEREEs, JBRTEBIR, REUERES;
3. BUARESFTEDBHAEERERBRER, REZEESENESBEES, F 3
ENREFSHERBERIY i
(-1) , UJREESRAT ﬂé%@l‘&, BIAEBE05 ™5 ;
4, 1&1@7_%@%%1?&%1%H%Hjﬁ&ﬁl%%, nﬁﬁﬂax‘ﬁ@%%ﬁs&izﬁi@ﬁ, 2% |
iR E R R RBHIERR BEES (kg): m | BEEE (ko) m
(-3, nﬂm‘@@%mﬁﬁuﬂéﬁfﬁ%, EDVJJE‘ 95 ; BEEEM/s):  v=Rxw | BEEEMs):.  v=Rxw
5. REEELFRESRETEREAANE, RUBEEES: LM, HEE . w? o e ?
HESEER, Ee  (JIN.m): Bl=0% E@JEE WIN.m): E1=
& WHEEUN.m:  E2= DXL @mseoNm.  E2-TxL
; 2 @EBUN.mM):  E-E1+E2 | @EBUN.m).  E=E1+E2
5% 5 BA
6. EEHES LIFREHE: -10~80C ; rs B fir
74 @ﬁ%}\‘i%gi%@, BHEMMTEBEN 1mmBRBLE, TJRSEMELRS m |BREE kg L &2 m
Zi, *mﬁ@aﬂzfﬂfﬁ’gm1 i vV |EREE WS h BHEE -
8. BAIZEM=MU-EESBE, BEBOLDIE; E lmee N T e N
9. BEAABEREEMNRER. BREIAEAENESR, E1 |@nac@ay J ~TEE
s iyl FE(ELEE) (N.m) [N |BHBIEEH rpm
AREDN, EANBAIOAKR, BAZEWBE, WLZEFNBER | R S P T B
EBT?E%EEED%’EI E2 |REEhAE JIN.m) R |REDI)EEERThAE| M
- — g |ENRE 9.8(m/s*) |EMRB(I=mr7/2) kg x m
E R r Sl | [F |7 (7 x D’ x P)/4)|N FRE(w=2TN6O0) |
RiE HEN.m) R pr (90° =1.57radfs) |@%S
ACA0806 M8x1.0 [2.0 p ERERE MPa
ACA1007. ACJ1007 M10x1.0 [3.5
ACA1210. ACA1215. ACJ1210 M12x1.0 8.0
ACA1412. ACAT416. ACA1420. ACJ1412 M14x15 [11.0
ACA2020. ACA2025. ACA2030. ACA2040. ACJ2020 M20x 1.5 [24.0
ACA2525. ACA2550. ACJ2525. ACJ2550 M25x1.5 |40.0
ACA2725. ACA2750. ACJ2725. ACJ2760 M27x 1.5 [63.0




